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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remainin

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Time: 3 hrs.

F\\iiiiirfrtjh\_Semester B.E. Degree Examination, Dec.2017/J “
‘;;;’\\‘::\D‘ata Communication and Networkin

/ Module-1
Define data commumeatlon Explain the fundameuta‘lx‘,‘,, aracteristics of a data
communication systel t\\Vlth a neat diagram, expimn the components of data

commumcatlon ) S (06 Marks)
: (08 Marks)

media. (06 Marks)
Define line coding. List out its characterlstlcs Represent the sequence 10100110 using polar
and biphase schemes S o (08 Marks)
pass only an average of 18000 frames per

example. '
Define multiplexing Sta
datarates in TDM. /

(05 Marks)

(03 Marks)

Briefly explam with neat diagrams, ASK and FSK modulation techmques and speCIfy the
bandwKith requ1rement - (06 Marks)
We need 10 send data 3 bits at a time at a bit rate of 3 Mbps. The camerw_ quency is

10 MHA Calculate the number of levels (different frequencies, band rate and band width).
\”}(04 Marks)

,fExplam how message can be sent from one system to another using datagram approaeh and

- »:alculate the total delay with appropriate diagrams. ‘ (06\1}_131 ks)
Module-3
Find the code word at sender site using CRC given dataword 101001111 and generator
10111. (05 Marks)
Explain different frame types in HDLC. (06 Marks)
Explain transition phases of PPP protocol. (05 Marks)
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OR

’Exprlam with neat diagram, simple parity check code. 70, (06 Marks)

Explam with examples, computation of internet checksum. List the steps-undertaken by

sender and receiver for error detection. (05 Marks)

Explam stop and-walt protocol with appropriate diagrams. (05 Marks)
N Module-4

Explain wor;k gof CSMA/CD with suitable flow diagram. (07 Marks)

A network usifigZCSMA/CD has a bandwidth of 10 Mbps. If th “propagatlon time is 25.6 ps,

what is the minin mi“sme of the frame? (03 Marks)
Define Bluetooth' and explgm the architecture of the same (06 Marks)
\ OR
Define is channellzatlom\Exp\iam CDMA with an example - (06 Marks)
A pure ALOHA network\t‘ransmlts 200 bits frames oma shared channel of 200 kbps. What is
the throughput if the systent. produces 1000 frameq’oer second (04 Marks)
Discuss 802.3 MAC frame formh (06 Marks)
Explain the operation of cellular teIe:ph (06 Marks)
Explain transition from IPV4 to IPV6{ (06 Marks)
Discuss special addresses supported by IPV() (04 Marks)

(08 Marks)
(08 Marks)
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